
 

 

Reynold’s # = 1e5, changing angle of attack(alpha) from 1-10 with .1 degree increments, converged up 

until alpha = 8.6 

 

 

Reynold’s # = 3e6, changing angle of attack(alpha) from 1-10 with .1 degree increments, converged for 

all values of alpha 



 

Reynold’s # 2e5, changing angle of attack(alpha) from 1-10 with .1 degree increments, converged for all 
values of alpha                                                                                                                                                        
Therefore, increasing the Reynold’s # will allow for greater chance of convergence                                 
Lower pressure above the wing and high pressure below the wing will generate lift, explains the 
coordinates of the x axis for Cp. 

 

 

Changing the angle of attack with only 1 degree increments will cause it to not converge. 


